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Question 1.

1 2
Consumer A has Cobb-Douglas preferences: U (xl’xz) = x3%5,

where x, and x, are the amounts consumed goods 1 and 2.

a) What does the marginal utility (MU) measure?
Calculate marginal utilities MU; and MU, for both goods.

b) What does the marginal rate of substitution (MRS) measure?
Calculate the marginal rate of substitution MRS, for consumer A.

The price of good 1 is p,; = 2 and the price of good 2 is p, = 4.
Consumer's income is m = 18.

c) Derive the utility-maximizing ordinary demands x;(pi,pz,m) and x5(py p2, m), given
the prices of the goods and the consumer’s income.

Question 2.

a) Explain what does consumer surplus mean? lllustrate your answer with a graph.

b) If supply is inelastic and there is tax added, what happens to the producer and
consumer surpluses? lllustrate your answer with a graph.

c) What does deadweight loss (excess burden) mean? What happens to deadweight
loss, if supply is inelastic and there is tax added? lllustrate your answer with a graph.

Question 3.

Consumer B is working in a factory, and she can earn 10 000 € during the summer. The
utility from working is a function of how much she earns (Y), given by

uey)=iny.

a) If there is a 25 percent probability that Consumer B will lose 1000 € of salary during
the summer, what is the expected utility?

b) Suppose that Consumer B can buy full insurance against losing the 1000 € (say, by
purchasing health insurance) at an actuarially fair premium of 250 €. What is her
expected utility if she purchases this insurance?

c) Does Consumer B buy the insurance or face the chance of losing the 1000 € without
insurance? Is she risk loving, risk averse, or risk neutral? Why?

d) What is the maximum amount that Consumer B would be willing to pay to insure her
1000 €7



Question 4.

Suppose the demand curve D(p) and supply curve S(p) for the market is given by the
following equations:

D(p)=q=100-p
S(p)=q=50

a) Solve the market equilibrium and producer and consumer surpluses.
Now government imposes quantity tax =10 on firms.

b) Solve the new market equilibrium.
c) What happens to the surpluses? Solve the deadweight loss.
d) What is the amount of tax revenue the government can expect?

Question 5.

Aggregate market demand is given by q(p) = 50 — (p/2), where q is the quantity and p is
the market price. The total cost function for any firm in the industry is c(q) = 44.

a) Assume that there is only one firm producing in the market.
- Write down the monopoly’s profit function (q).
- What is the profit maximizing level of output g™ for the monopolist?
- What would be the market price?

b) Assume there are two Cournot firms (i.e. quantity competition) operating in the
market.
- What would be the reaction functions R;(g,) and R;(q1)?
- What would be the Cournot-Nash equilibrium quantities g; and ¢;?
- What would be the market price?

c) Assume there are two Bertrand firms (i.e. price competition) operating in the market.
- What is the Nash equilibrium market price? Explain the adjustment process of
price setting.
- What would be the market demand?






